Orden de Operaciones (G)

Realice las operaciones en el orden correcto.

. 25,89+ (—12,46) — (33,57 + (—10,85) + (—53,92))

—_—

2. 95,45 x 6,4 — 83,41 +30,8 — 81,51

W

. 43,17—-10,93 — (—74,77) + 69,96 + 2,89

4.55,4—68,14+97,64 — (—61,39 + (—59,67))

9

039,27 4+4,92 4+ 69,87 +69,27 4+ 23,07
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Orden de Operaciones (G) Answers

Realice las operaciones en el orden correcto.

. 25,89+ (—12,46) — (33,57 + (—10,85) + (—53,92))
= 44,63

. 95,45 x 6,4 — 83,41 +30,8 — 81,51
— 476,76

43,17 — 10,93 — (—74,77) + 69,96 + 2,89
—.179,86

.55,4—68,14+97,64 — (—61,39 + (—59,67))
— 205,96

. 39,27 +4,92 + 69,87 + 69,27 + 23,07
= 206,4
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